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Tanta University
Faculty of Engineering

3 Year Arch,
Fingl Term Exam

Course Title: Fq Course Code: CSE 3254
Total Marks:

Date: 1 0/6/2079
ny Missing Data to be Reasonably Assumed,

Question No. (10 Marksz
1-a) Define the following: i

undation

3 Marks
1-b) A soi] Sample hag total unjt Weight of 16,97 KN/m? apnq avoid ratig of 0.84. The Specific 8ravity of
solids ig 2.70. Determine the moisture Content, dry unit weight and degree of i
(Use: PYwater = 10 kN/m3)

Juestion No. 2 10 Marks

a) As shown in fi

gure (1), compute the incr
plication of two po

ase in verticg] stress at points (a) and (b) due to the
ints loads of 800 kN and 900 kN

(5 Marksg

~
W

p—

~y

.................................................................... ’ b
A sample of sand, wh

ich will pe used as a fi]] behind the retaj
The following data were obtained:




Tanta University
Faculty of Engineering
34 Year Arch.
Final Term Exam

Course Title: Foundation Course Code: CSE 3254 Time allowed: 3.0 hours
Total Marks: 45 Date: 1 0/6/2019 No. of Pages: (2)

uestion NO. 3 (10 Marks

3-a) Discuss how to determine the ultimate bearing capacity of soil under shallow foundation. Mention 10

factors affecting on bearing capacity of soils. 4 Marks
3-b) Show with clear details the modes of bearing capacity failure . (2 Marks)
3-¢) Show the reinforcement details of raft foundation and strap beam. (4 Marks)

Question No.4 (15 Marks)

4-a) Using clear sketches, show the pile load test setup and how to get the working load from this test.
(5 Marks)

4-b) A bored pile, 750 mm in diameter and 12.0 m in length, is installed at @ site that consists of two
consecutive clay layers: ¢ Marks)

Upper firm clay: 8.0m in thickness with undrained shear strength = 50.0 kN/gnz.

Lower stiff clay: 12.0m in thickness with undrained shear strength = 120.0 1N/’

Determine the pile working load assuming the following:
i) a= 0.7 for firm clay and 0.5 for stiff clay; N¢ = 9
ii) Factors of safety of 1.5 and 3.0 are applied to both the shaft and base loads, respectively-
jii) The top 1 0 m of the firm clay is ignored due to clay/concrete shrinkage.

4-¢) For the conditions described above (4-b), determine the required pile length to support a workin

load of 1200 kN. (5 Marks)
Best wishes
Prof. Dr. Mohamed A. Sakr - Prof. Dr. Ahmed M. Nasr
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